
SAP ABAP table DIAFRU {PM Completion Confirmation}

DIAFRU

MANDT [CLNT (3)]

WERKS [CHAR (4)]

TXTSP [LANG (1)]

ZEIER [UNIT (3)]

ILE01 [UNIT (3)]

ILE02 [UNIT (3)]

ILE03 [UNIT (3)]

ILE04 [UNIT (3)]

ILE05 [UNIT (3)]

ILE06 [UNIT (3)]

ISMNE [UNIT (3)]

LEARR [CHAR (6)]

IDAUE [UNIT (3)]

LOART [CHAR (4)]

QUALF [CHAR (2)]

LOGRP [CHAR (3)]

GMEIN [UNIT (3)]

MEINH [UNIT (3)]

GRUND [CHAR (4)]

APLZL [NUMC (8)]

AUFNR [CHAR (12)]

OFE01 [UNIT (3)]

OFE02 [UNIT (3)]

OFE03 [UNIT (3)]

OFE04 [UNIT (3)]

OFE05 [UNIT (3)]

OFE06 [UNIT (3)]

OFMNE [UNIT (3)]

ODAUE [UNIT (3)]

PDSNR [NUMC (12)]

KAPID [NUMC (8)]

CANUM [NUMC (4)]

BEMOT [CHAR (2)]

IPRE1 [UNIT (3)]

OPRE1 [UNIT (3)]

ISMNU [UNIT (3)]

OFMNU [UNIT (3)]

AFVC

MANDT [CLNT (3)]

AUFPL [NUMC (10)]

APLZL [NUMC (8)]

 DIAFRU-APLZL = AFVC-APLZL 
0..N

0..N

AUFK

MANDT [CLNT (3)]

AUFNR [CHAR (12)]

 DIAFRU-AUFNR = AUFK-AUFNR 
1

1

CSLA

MANDT [CLNT (3)]

KOKRS [CHAR (4)]

LSTAR [CHAR (6)]

DATBI [DATS (8)]

 DIAFRU-LEARR = CSLA-LSTAR 
0..N

0..N

KAKO

MANDT [CLNT (3)]

KAPID [NUMC (8)]

 DIAFRU-KAPID = KAKO-KAPID 
0..N

0..N

KBED

MANDT [CLNT (3)]

BEDID [NUMC (12)]

BEDZL [NUMC (8)]

CANUM [NUMC (4)]

 DIAFRU-CANUM = KBED-CANUM 
0..N

0..N

T000

MANDT [CLNT (3)]

 DIAFRU-MANDT = T000-MANDT 

0..N

1

T001W

MANDT [CLNT (3)]

WERKS [CHAR (4)]

 DIAFRU-WERKS = T001W-WERKS 

0..N

1

T002

SPRAS [LANG (1)]

 DIAFRU-TXTSP = T002-SPRAS 

0..N

1

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 DIAFRU-GMEIN = T006-MSEHI 

0..N

1

 DIAFRU-IDAUE = T006-MSEHI 

0..N

0..N

 DIAFRU-ILE01 = T006-MSEHI 

0..N

0..N
 DIAFRU-ILE02 = T006-MSEHI 

0..N

0..N
 DIAFRU-ILE03 = T006-MSEHI 

0..N

0..N
 DIAFRU-ILE04 = T006-MSEHI 

0..N

0..N  DIAFRU-ILE05 = T006-MSEHI 

0..N

0..N  DIAFRU-ILE06 = T006-MSEHI 

0..N

0..N
 DIAFRU-IPRE1 = T006-MSEHI 

0..N

0..N  DIAFRU-ISMNE = T006-MSEHI 

0..N

0..N

 DIAFRU-ISMNU = T006-MSEHI 

0..N

0..N

 DIAFRU-MEINH = T006-MSEHI 

0..N

0..N

 DIAFRU-ODAUE = T006-MSEHI 0..N
0..N

 DIAFRU-OFE01 = T006-MSEHI 

0..N
0..N

 DIAFRU-OFE02 = T006-MSEHI 

0..N

0..N

 DIAFRU-OFE03 = T006-MSEHI 

0..N

0..N

 DIAFRU-OFE04 = T006-MSEHI 

0..N

0..N

 DIAFRU-OFE05 = T006-MSEHI 

0..N

0..N

 DIAFRU-OFE06 = T006-MSEHI 

0..N

0..N

 DIAFRU-OFMNE = T006-MSEHI 

0..N

0..N

 DIAFRU-OFMNU = T006-MSEHI 

0..N

0..N

 DIAFRU-OPRE1 = T006-MSEHI 

0..N

0..N

 DIAFRU-ZEIER = T006-MSEHI 

0..N

0..N

T421

MANDT [CLNT (3)]

WERKS [CHAR (4)]

LOGRP [CHAR (3)]

 DIAFRU-LOGRP = T421-LOGRP 0..N

1

T423

MANDT [CLNT (3)]

WERKS [CHAR (4)]

QUALF [CHAR (2)]

 DIAFRU-QUALF = T423-QUALF 

0..N

1

TBMOT

MANDT [CLNT (3)]

BEMOT [CHAR (2)]

 DIAFRU-BEMOT = TBMOT-BEMOT 

0..N

0..N

TRUG

MANDT [CLNT (3)]

WERKS [CHAR (4)]

GRUND [CHAR (4)]

 DIAFRU-GRUND = TRUG-GRUND 

0..N

1


